Задание для группы 5зА1

	№ п/п
	Модель а/м
	kрел
	Исходные данные

	1. 
	УАЗ-3303
	0,16
	

	2. 
	ГАЗ-53
	0,55
	dз= 2*10-4 м.

	3. 
	МАЗ-53371
	0,65
	 = 0.7

	4. 
	ЗиЛ-133ГЯ
	0,73
	=1000 кг/м3

	5. 
	ГАЗ-66
	0,64
	Н=200 м

	6. 
	ЗиЛ-131
	0,66
	=1

	7. 
	Урал-4320
	0,56
	f=1.1

	8. 
	САЗ-3508
	0,53
	kc=0.9

	9. 
	КамАЗ-5511
	0,7
	kпр=0.87

	10. 
	ЕрАЗ-762
	0,16
	а=4 м

	11. 
	ГАЗ-3307
	0,45
	[bookmark: _GoBack]Vа= 3 м/мин

	12. 
	КамАЗ-5320
	0,65
	Р=22 кг/см2

	13. 
	ЗиЛ-157КД
	0,63
	L= 0.7 м

	14. 
	ИЖ-2715
	0,18
	н=дв=0.9

	15. 
	КрАЗ-255Б1
	0,67
	

	16. 
	ЗиЛ-ММЗ-4502
	0,53
	

	17. 
	КрАЗ-256Б1
	0,7
	

	18. 
	ЗИЛ-431410
	0,45
	

	19. 
	КрАЗ-250
	0,65
	

	20. 
	КамАЗ-43101
	0,68
	

	21. 
	ЗиЛ-ММЗ-4505
	0,57
	

	22. 
	ЗиЛ-433100
	0,48
	

	23. 
	КамАЗ-53212
	0,69
	

	24. 
	МАЗ-5549
	0.71
	

	25. 
	КамАЗ-6520
	0,62
	

	26. 
	ЗиЛ-5301
	0,38
	

	27. 
	ГАЗ-3310
	0,44
	

	28. 
	ЗиЛ-ММЗ-555
	0,61
	

	29. 
	Урал-375Д
	0,72
	

	30. 
	КАЗ-605
	0,6
	



